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SECTION A (20 x 2 marks)

Questions 1 to 20 carry 2 marks each.

Of the four options are given, oaly one is correct. Choose the correct answer
(1, 2, 3 or 4) and shade the corresponding oval in the Optical Answer Sheet.
(OAS)

1. 10 thousands 7 ones is the same as -
(1) 107
(2) 1007 =
(37 10 007 _
{(4) 100 007

2. Complete the riumber pattern: 9 856, 99358, . 10156, 1G 256.

(1) 9 056
(2) 10 056
(31 11 056

(4) 90 056

3. ¢ The common multiple of 6 and 9is

(1) 27
(2) 2
(3) 3

(4} 18




TLS

46 749 when rounded off o the nearest 100is ___ .
(1) 46 000
(2) 46 700

(3) 46 800

(4 47 000

The sum of two numbers is 5 760. Cne of the numbers is 650 more than the other.
What is the farger number?

(1) 2 556
(2) 3205 )
(3) 5110 -

(4) 6 410

Jane has five $5¢ notes and four $20 notes. She wants to buy a watch and a pen
which cost $450 altogether. How much more money does she nead?

(1) $120
(2) $330
(3) $380
(4) $520



1, . 5
How many — Saretherein 3.7

f 7
(1) 1
(2) 5
(3) 21
(4~ 26

Yao Dong ate Zlof a cake. His friend ate % of the same cake. What fraction of the

1

cake did they eat altogether?

—

1) —
(1) p
v |
(2) > -
i K
(3) 2 _
3
4 3
(4) "
[ 3.
Thevalue of 6 - — - = jg
o
(1) st
8
7
(2 5L
(2) 5
(3y 5t
2
3
4 ) 52
(4) p




O is the centre of each of the foliowing circles. Peter would like to show that ;— of

a circlz is shaded. Which one of the figures below shouid he draw?

’_\

{1)

(4}

Which one of the following is the best estimate of the angle above?
(1) 45°

(2) 90°
(3] 120°
(4) 250°



E D

in the figure above line AB is parailel to line

(1) AE
(2)  BC
(3) cD _
(4) DE

Which one-of the angles below is larger than 2 right angles?

\\ \N _
AR AN

(1) A
(2) B
(3) C
(4) D




-y
A

15

It takes Sam 4 seconds to cut a strip of paper into two equal pieces as showrt.
How long would it take for him o cut a similar strip of paper into 8 pieces?

]

{1) 24 seconds

{2 28 seconds

{3) 32 seconds

(4)- 36 seconds

A glassis % full of orange juice. When another 50 ml of orange juice is added, it

becomes g full. How much orange iuice can the glass hold when it is completely
full?

(1) 25 ml

(2) 100 mi

(3) 200 mi

(4) 225 ml



16.  The four-sided figure below represents a playground. Poh Wah jogged round it
three imes. How far did he jog?

9m

(1) 26 m
o {2) 52 m
(3) €3 m
-(4) 76 m

- 17.  Ahmad bent a piece of wire to form the shape below. How long is the wire?
( The figure is not drawn to scale.)

3cm

2 cm 5cm

3cm
|2 cm

4 cm

(1) 19 cm

(2) 23 cm

(3} 24 cm




"18.  Which one of the figures below has an area of 36 cm? ?
(The figures are not drawn to scale)

(1) I (2

8 cm Scm

I 9 cm
10 cm

- (3) | {43

3cm

12 cm

7 cm

19, | 7 | |

In the figure above, the area of the shaded circle is j; of the area of the square.

What is the area of the circie?
(1) 36 cm?

(2) 27 cm?

(3) 3 cm?

(4) 9 cm?



20.

In the figure above, ABC
The shaded area is

(1)
(2)

(3)

{4)

D is a square.
4 cm?
16 cm?

32 cm?

64 cm?




SECTION B ( 20 x 2 marks)

Questions 21 to 46 carry 2 marks each. ,

Write the cerrect answers for the following questions in the boxes provided.
Show your woriings clearly and give your answers in the units provided.

21. o o
= '*@ = 48

Nz
©-0. 0. .-

What do and @) represent?

©.
] | Answer: @ )

22.  Study the pattern given below. Find the missing number in Triangie C.

Answer:

10



3.

Answer:
24 Find the numbers represented by A and B.
3 4 A
+ 9 9
B B 5
Answer: A=
B= )

25.

When a number is divided b
What is the number?

Find the mass required to balance the scale below.

y 5, the quotient is 324 and the remainderis 3.

A _ 4 (‘_ P [(56)(3_)[(‘%)(3)!
&
Diagrom 1
12_51}9 250 g]l

&

Diagrom 2
<Dloed], S ETN
&
Diagram 3
Answer:

11




~26. The figure below is made up of two

tdentical squares. What fraction of the figure
is shaded?

Answer:

27. XY is a straight line. Which one of the followin

g lines will form a perpendicular
angle with tine OR?

Answer:

12



28.

08 | L
+
£ ]

=1 o l (Give your answer as a mixed number.)

B3| -

Answer:

29. Andy is standing at the point marked P as shown in the di-éigram below. He is
facing the Supermarket. He turns 270° anti-clockwise. Which place will he face?
Shopping

Eaad - centre - Calte>‘<

Cenfie Petrol

Kiosk

Supermarket P School
i /
BP Petrol ' Playground
Kiosk
Post

y QOffice

Answer:

13




- 30. Arrange the fractions below in ascending order.

(1. B
12 1

od | oam
£
=

Answer:

S [ ]

= - What is the missing numerator in the box?

Answer:

32 ABCD is a reclangle. Find /DAE.

Answer:

14



33.

A
L

35.

Using a proiractor, measure ZACB.

.

Answer:

ZACB=

When the minute hand of a clock moves from .20 p-m. 10 6.35 p.m., it has

moved

degreaes.

Answer:

The figure below, nct drawn to scale, is made up of 5 identical squares. The
perimeter of the figure is'36 cm. What is the length of each side of the square?

15

Answer:

cm




36. Xis arectangle and Y is a square. They have the same perimeter.
What is the area of rectangle X? (Figures are not drawn to scale.}

[

10Cm, Y

5cm

[

Answer:’

37. Joo Ann cut off 4 squares from the edge of a square piece of cardboard.

The area of each smaii Square that he cut off was 4 ¢
Find the area of the remaining cardboard.

Answer:

s

38_ The area of arectangle is 152 cm?. The breadth of the rectangle is 8 cm.
Find its length.

Answer:

16



39.

What fraction of the set below is shaded?
Write your answer in the simplest form.

Answer:

Answer:

17




. Section C {5 x 4 marks )

Do the following sums carefully. All statemenis and workings must be clearly
shown. All units must aiso be stated ciearly.

41.

i Day Women Men
t ___ Salurday ) 564 . 757
‘— Sunday 676 712

The table shows the number of people who went to the cinema on Saturdéy and
Sunday.

(2} How many people went to the cinema on Saturday and Sunday?
(b) The cost of each cinema ticket was $7. How much was collected from
the sale of tickets to the men on both days? _ - )

Answer : (a)

(b)-,

18



42. The figure below is made up of two squares, & and Q.
The perimeler of square P is 48cm.
What is the area of the whole figure?
(The figures are not drawn to scale.}

} 3cm

Q

Answer:

43. . ] H ) :
3 % of the audience in a concert are women, " are children and the rest are men.
1

i

There are 368 men at the concert.
How many women are there at the concert?

Answer :

19




44,

435.

The lengths of two rectangles are 7 m and 11 m respectively. The total area of the
two rectangles is 94 m”. Find the difference in their areas.

Answer.__

There were 90 apples in‘fwo baskets.

15 apples were transferred from baskat A into baskets!

18 apples from basket B were then transferred into basket A.
Now basket A has twice the number of apples in basket B.
How many apples were there in each basket at first?

Answer: A=

End of Paper
20
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41)a)75735641321
'676+7212-1388

1388+ f%m%%mg
2709 people went to the cin_

b)757+712=1
1469x$7=51%
$10283 we
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Length of Q 12cm 3cm 9ch1 e
gem+12cm= 21cm JeS
21cmx12cm= 252cmz
3cmx9c —27?:6% B
. 252cni- Zécm"ﬁ—zzs ) cm%z‘

5 ,w*The are o the whole figure is 225cm :

3 -W!‘f‘

F-oy
°5+18_;é
There | ere%wg apples it basket Ba
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